YNNG

HAF 22 LRV 5? 111 g2 5= 8 Y
1 E5S - X gHTEEERF L 112.04.18
P R e TEER
08:15
! py
08:45
09500 e 2.1~2-2 ( i’q it 80% ) ~
10:00 F-PIFEAPBAY (HE20%)
5 10:15
9 ! py
2 11:00
B 11:15
l A€ ¥ 3~4%
12:00
& 13:10
g}) Z F’ 33
= 13:55
14:05
l R~ FrHRIF AP E-
14:50
15:00
l iT= FHLERF
15:50
B LVHT 2R B¢ 3 24 2By K RAEH 24 80k

m%"\n_ﬁ,’}~n_1.

FELEAGWELE

2.FXF FPBRFERFLK
Wiepr 2By g

%iﬁ&é%ﬂd@o
i—?n'&‘ém‘ﬁ&ﬁz > o !
Eokend T8

F .=
¥ 2
el
+ R

B CFIRE -2 F3

)—i‘?u’ T’ I;L rf"@k‘}‘iﬁi
PaRIEFEREL L R Ii‘.péﬁ

it

B
a
A )

&
2
7
U

T2 ~FAFREL

P P ¥ B sl
08:15
! p i
09:00
09:15
{ & F-PIEAP
10:00
S 10:15
)} 2 E‘ S‘S
11:15 L. oA
g : i o mE iy 2R
, 12:00 PP FAR
- 13:10
5y )
= 13:55
14:05
!
14:50
15:05
!
15:50
XA PRI L S 60 24> (5% PIRFR L
250 A4hc A6 AJI05 450 M FKRIFE RS

FHFTE

X B IP|% P R 1 09:20~09:30




anig KIS

p 3

P Y

o 5

| W = Ol

fin e

08:15

!
09:00

09:15

!
10:00

Y
%\-\“’
g
|
*
(]
E s
|
*

10:15

{
11:00

11:15

!
12:00

13:10

!
13:55

14:05

!
14:50

15:05

!
15:50

%‘rﬂ“’ﬁivdvﬁi]?\‘t‘glllg-&)i - 8 ¥
1 E5S - X gHTEEERF L 112.04.18
2, ¥ P = R
08:15
! py
08:45
09500 . 2-1~2-2 (£ 1% 80%) ~
10-00 F-PIFEAPR “(*’]uéZO%)
5 10:15
3 ! By
2 11:00
2 11:15
{ At g ¥ 3 4%
12:00
2 13:10
fy . By
= 13:55
14:05
l R~ FrHRIF AP E-
14:50
15:00
l iT= FHLERF
15:50
B ILVRF 2L RBCES S IR BT S HAELI EK

m‘?‘l'_]l/’}‘l'.l.

FELEAGWELE

2 XTI BRERFE
Wiepr 2By g

%iﬁ&é%ﬂd@o
i—?n'&‘ém‘ﬁ&ﬁz s do -
Eokend T8

F .=
¥ 2
el
+ R

B CFIRE -2 F3

)—i‘?u’ T’ ;;erTﬁk‘Fi?‘u
P T

B
-
A )

&
2
7
U

e s B AEREE o Fr 2

HEPRREFEL S 6044

< BBk PR 4t R

150 A4 i EpIEE 45 A

x@ aﬁ

S KEER B

FHFTE

X B IP|% P R 1 09:20~09:30




